MHF 4Ul Unit #7 — Trigonometry Two — Exam Review

1. Evaluate. (Leave as exact answers.)

a) Cos| — 237 b) Sin| —— 197 c) Cos| — o7 d) Sin| — z
12 12 8 8
2. Solve for 8, 0<0<2x. State exact answers where possible. Otherwise, round to 4 decimal places.
a) Sin(20)=-0.6438 b) Sec?(9)=2 c) Tan(26)=-2.5468

d) 6Cos®(9)+2Sin(0)-1=0 e) Sin(20)-2Cos(6)=0 f) 5Sec?(20)+7Sec(20)-12=0

3. Prove each identity.

) sin(20)-2Sin’(@) _ 2sin(9) o Sin(20) Cos(20) 1
Cos(20)  Cos(#)+Sin(0) Sin(@) Cos(@) Cos(9)
c) Sin(x)Sin(y)= %[Cos(x —y)—Cos(x+y)| d) Cos(x+ y)Cos(x—y)=Cos?(y)-Sin?(x)

1+4/3 -1- \/_ —1+\/_ —1+\/_
1. a) EY3 b) ——— 1/ d) ,{ 22

2. a) 1.2211, 2.7918, 4.3627, 5.9334 % Tﬂ Tﬂ Tﬂ c) 0.9725,2.5433, 4.1141, 5.6849
d) 4.0069, 5.4179 e) % 37” f) 0,7, 27, 1.0003, 2.1413, 4.1419, 5.2829
MHF 4UlI Unit #5 = Trigonometry Two — Exam Review
1. Evaluate. (Leave as exact answers.)
a) Cos| — 237 b) Sin| — 197 c) Cos| — o7 d) Sin| — z
12 12 8 8
2. Solve for 8, 0<@<2x. State exact answers where possible. Otherwise, round to 4 decimal places.
a) Sin(20)=-0.6438 b) Sec?(6)=2 c) Tan(20)=-2.5468

d) 6Cos?(0)+2Sin(@)-1=0 e) Sin(20)-2Cos(9)=0 f) 5Sec?(20)+7Sec(26)-12=0

3. Prove each identity.

Sin(20)-2sin*(9) _  2Sin(6) o Sin(20) Cos(26) _ 1
Cos(20) Cos(#)+Sin() Sin(¢) Cos(@) Cos(8)
c) Sin(x)sin(y)= %[Cos(x —y)—Cos(x+y)| d) Cos(x+ y)Cos(x—y)=Cos*(y)-Sin?(x)
Answers:
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2. a) 1.2211,2.7918, 4.3627, 5.9334 b) % il 57”,77” c) 0.9725,2.5433, 4.1141, 5.6849

d) 4.0069, 5.4179
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